Nanyang. Primary School
Primary de__ Mathematics
Topical Test 2
-'(Mass, Mulfiplication and Division)

Name: - Marks: . 140

Class: Pr. 2 Parent’s Signature:

- Date: 19 May 2011 (Thursday)

Secfion A:

Questions 1 to 6 carry two marks each. For each question, four
choices are given. One of them is the correct answer. Choose the
correct answer and write its number (1, 2, 3 or 4) in the brackets ( )
prbvided. : (Total: 12 marks)

1. What is the mass of the tube of toothpaste?

ﬁ%‘

\/

(1) 20g (2) 2359
(3) 255¢ ~(4) 275g¢ (



The mass of the sack of flour is the same as the mass of
tinfs) of paint.

(1 1 2 2
3 3 4 4 ( )

3. Which of the following does. not give you the same answer
as3 X87

(1) 4Xs (20 8+8+8
3 12+12 4 2X11 ( )

4. What is the missing number in the circle?

(1) s 2 7
8 8 (4 9




5. |am a 2-digit number. The sum of my 2 digits is 6.

My ones digit is two times my tens digit.. What number am 12

(h 33 2 15
(3) 42 4y 24 {

6. Whatis the mass off@ apple? .
NZREN TN . )
AKX [
R |

(1) 600g {2) 200g
(3) 300g 4) 400g Y (




Section B

Questions 7 to 12 carry 2 marks each. Write your answers in the
blanks provided. ' (12 marks)

7. Each ‘stands for 3 kg.

The mass of the puppy is kg.

Answer: kg

8. Jake is 22 kg.

His father is 38 kg heawer than him.
What is their total mass?

Answer: kg




9. Write a multiplication sentence and a division sentence based on

the picture below.

10.What is thé missing number in the box?

4 x =5x8

Answer;




. 3 eggs are needed to make a cake.

How many eggs does a baker need if he wants to bake
6 such cakes?

Answer:

12.

Anant has 6 legs. A spider has 8 legs.
How many legs do 5 ants and 4 spiders have in alf?

Answer:




Section C -
Questions 13 to 16 carry 4 marks each. Do these WQrd problems

carefully,. Show your wdrking and write your final answer in the
space provided. (Total: 16 marks)

13.  Mrs Chen bought 3 kg of fish for $27.
How much did 1 kg of fish cost?

1 kg of fish cost §

14. Siti wants to buy some lemons.
How many lemons can she buy with $6?

@ 4 lemons.for $2

She can buy lemons with $6.




15. Miss Zen has 30 chocolates.

After giving. away 4 chocolates to each pupil in her class,
she stili has 6 chocolates left.

How many pupils does Miss Zen have?

Miss Zen has - pupil:

16. 22 girls and 28 boys are going to the zoo.
They are going there by car.
Each cai-can take 5 children.

How many cars are needed to take all the children fo the zoo?

cars are needed fo take all the
children to the zoo.

End of Paper
Please check your work carefuily.
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QL Q2 |3 ] 04! 051 06

2 |31 42 42

Section B

Q7) %qg

Q8) 82kg

Q) 7x2=14,14+2=7
Q10) 10

Q11) 18

Q12) 62

Section C
Q13) $27 + 3 =$9

Q14)4x3 =12

Q15)30 - 6 = 24
24:4=6

Q16) 22 + 28 = 50
50 + 5 = 10
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